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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-13

BriE) | BRI (FD) | ERE (EH/4) | BEBREE(B/R) |[XS EFRE

07:10 300 150.0 2.888 RS FhHAQO7:10 kENFEF (CRAfEEER)
07:40 300 150.0 2. 888 RS ThHAQO7:40 KENIEF (KAHEEER)
08:10 300 150.0 2. 888 B FiHAe08:10 KREFEF (REERESE)
08:40 300 150.0 2.888 RS FhHAQO8:40 KENFEF (kAfEEE)
09:10 300 150.0 2.888 RS ThHA@O9:10 kENFEF (RAMEEER)
09:40 300 150.0 2. 888 RS FiHA@09:40 KREFEF (KREAERESE)
10:10 300 150.0 2.888 RS FhHA@10:10 KENFEF CGRAfEEER)
10:40 300 150.0 2.888 Ag| FnHfe10:40 KRHEIEF (KREERES)
11:10 300 150.0 2. 888 RS FaHAe11:10 KEIEFE CGRAFEER)
11:40 300 150.0 2. 888 B FhHA@11:40 KENFEF (RAIEEEE)
12:10 300 150.0 2.888 BE| FiHfe12:10 REEF (REEZEHE)
12:40 300 150.0 2. 888 RS ThHAe12:40 KkHEIEF CKAFEEE)
13:10 300 150.0 2. 888 R5| TiHAe13:10 KRHERF (RAEHS)
13:40 300 150.0 2.888 B ThHA@13:40 KENFEF (RA{EEEE)
14:10 300 150.0 2. 888 RS ThHAe14:10 KEIEFE CGRAFER)
14:40 300 150.0 2. 888 RS FiHAe14:40 REIEF (REERR)
15:10 300 150.0 2.888 B[ FHAe15:10 REEF (KBAHERKS)
15:40 300 150.0 2. 888 RS ThHA@15:40 KEIEF (CKAFESER)
16:10 300 150.0 2. 888 B FiHFe16:10 REEF (REAERSE)
16:40 300 150.0 2.888 RS FiHAe16:40 REHEBF (KAEHSE)
17:10 300 150.0 2.888 BE| FiHFe17:10 REEF (REAEZHE)
23t]6300.0 (21)%) 3150.0 32353 %EC: 2080.0, PH: 5.6

[EREC 7487.0 K&, iU F{KECAE&Mi%E R
HEEIKECE (1847.0 vs 7487.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-13_0, Day=72 (2025-06-11)
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P3-13

BYiE) | GEREKE) | Els (EA/H) | EBREE B/ R | X8 ERR

07:05 283 150.0 2.888 RS {Ri&e07:05 B (REAEHE)
07:35 283 150. 0 2.888 BE| 1Ri%e07:35 B3 (RF{EREE)
08:05 283 150. 0 2.888 s {Ri%e08:05 B (REAEEE)
08:35 283 150. 0 2.888 BE| {Ri&e08:35 B (REAEHE)
09:05 283 150. 0 2.888 BE| 1Ri%e09:05 Bz (RFERESE)
09:35 283 150. 0 2.888 BE| {Ri1%e09:35 Bnl (REEEE)
10:05 283 150.0 2.888 B 1Rige10:05 Bzh (REEESE)
10:35 283 150.0 2.888 BS| 1Ri%e10:35 Bz (GREMEEEE)
11:05 283 150. 0 2.888 sl Rige11:05 Bal (REEESE)
11:35 283 150.0 2.888 S| 1Rige11:35 Bah (REERESE)
12:05 283 150.0 2.888 S| Rige12:05 Bz (REAEHE)
12:35 283 150. 0 2.888 BE| 1Ri%e12:35 B (RFAERE)
13:05 283 150. 0 2.888 el Rige13:05 Bal (REAEHSE)
13:35 283 150.0 2.888 BE| {Rige13:35 BHal (REAEHE)
14:05 283 150. 0 2.888 BE| {Ri%e14:05 B (GGRFA{EREE)
14:35 283 150. 0 2.888 el BRi%e14:35 Bz (REERSE)
15:05 283 150.0 2.888 BE| Rige15:05 Ba (REAERE)
15:35 283 150. 0 2.888 BE| 1Ri%e15:35 B3 (RF{EREE)
16:05 283 150. 0 2.888 el {Rige16:05 Bal (REAEESE)
16:35 283 150.0 2.888 B 1Rige16:35 Bzh (REEESE)
17:05 283 150.0 2.888 BS| 1Ri%e17:05 Bzh CGREMEESE)
2it]5943.0 (217%) 3150.0 3253 %EC: 2080.0, PH: 5.6

MERRNER S 5STREAERSE (184.0 : 142.0), AEEHF—RZ X445
BRINSLEREBE142.0 ml.

EI/&EC 8020.0 K7, HELFRECARIA M EMR

B FRECE (1887.0 vs 8020.0) it/



P3-13_0, Day=71 (2025-06-10)
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P3-13

FriE) | EBIATK (FD) | ERE (EH/4) | BEBREE (B/R) [XS SRR

08:20 283 150.0 2.888 |Z=| {Ri%e08:20 Bz (KREAERHE)
09:00 283 150.0 2.888 |Z=| {Ri%e09:00 Bz (KREERHE)
09:35 283 150.0 2.888 |Z=| {Ri&e09:35 Bz (KREAERHSE)
10:15 283 150.0 2.888 |Z=| {Ri%e10:15 Bz (REAEHE)
10:50 283 150.0 2.888 |Z=| {Ri&e10:50 Bzl (KREAEHE)
11:25 283 150.0 2.888 |Z=| {Biget11:25 Bz (REEHE)
12:10 283 150.0 2.888 |Z=| {Rige12:10 Bz (KREAEHE)
12:55 283 150.0 2.888 |Z=| {Rige12:55 Bz (REAEHE)
13:35 283 150.0 2.888 |[/\if| 1Ri%e13:35 Bah (GREEESE)
14:10 283 150.0 2.888 FA| 1BRi%e14:10 Bz (kAFERSE)
14:45 283 150.0 2.888 FE| 1BRi%@14:45 Bz (kBERSE)
15:20 283 150.0 2.888 |Z=| {Ri&e15:20 Bz (REAEHSE)
16:15 283 150.0 2.888 |Z=| fBRige16:15 Bzh (KRAEESE)
17:05 283 150.0 2.888 |Z=| {Rige17:05 Bz (REAEHE)
21t 3962.0 (14)%) 2100.0 32 UHIKEC: 2080.0, PH: 5.6

TERRHLER 2 STEIEARTF (184.0 :

ZRIAEBRERE139. 0 ml.

[B]/XEC 8037.0 K&, UM {RECAEAIMIKER
HEEIHECE (1897.0 vs 8037.0) IS

139.0), FIEEHT—@E XA HS




P3-13_0, Day=70 (2025-06-09)
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P3-13

BfiE) | GEBRTIK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

07:00 283 150.0 2.888 B 1Ri%e07:00 Bh (REEESE)
07:30 283 150.0 2.888 BS| 1Ri%e07:30 Bz (GRE{EEEE)
08:00 283 150. 0 2.888 S| 1Ri%e08:00 B (RF{EEEE)
08:30 283 150. 0 2.888 s 1BRi%e08:30 Bz (REERSE)
09:00 283 150.0 2.888 RS {RRi%@09:00 Bz (REAEHE)
09:30 283 150. 0 2.888 BE| 1Ri%e09:30 B (KAL)
10:00 283 150. 0 2.888 iE| 1BRi%e10:00 Bz (REERSE)
10:30 283 150.0 2.888 BE| {Ri%@10:30 Bal (REAERE)
11:00 283 150. 0 2.888 BE| Ri%e11:00 B (RF{EREE)
11:30 283 150. 0 2.888 e Bi%e11:30 Bz (REERSE)
12:00 283 150.0 2.888 el Rige12:00 Bz (REAEHSE)
12:30 283 150. 0 2.888 BE| BRi%e12:30 Bz (RFAERESE)
13:00 283 150. 0 2.888 e BRi%e13:00 Bz (REERSE)
13:30 283 150.0 2.888 B 1Rige13:30 B3h (REEESER)
1400 283 150.0 2.888 BS| 1Ri%e14:00 Bz (GREMEEEE)
14:30 283 150. 0 2.888 el Rige14:30 Bah (REEESE)
15:00 283 150.0 2.888 B 1Rige15:00 B3h (REEESE)
15:30 283 150.0 2.888 BS| 1Ri%e15:30 B3 (GREMEESE)
16:00 283 150. 0 2.888 S| Ri%e16:00 B (RF{EEEE)
16:30 283 150. 0 2.888 iE| 1BRi%e16:30 Bz (REERSE)
17:00 283 150.0 2.888 BE| Rige17:00 Bz (REAEHE)
17:35 283 150. 0 2.888 BE| 1Ri%e17:35 B (RF{EREE)
23t 6226.0 (22:%) 3300.0 #UHKEC: 2080.0, PH: 5.6

TERRHLER 2 STEIEARTF (184.0 :

ZRIAEBRERE139. 0 ml.

[B&REC 7577.0 K5, EiYF{KECAE&HikER
HEERECE (1927.0 vs 7577.0) 5

139.0), FIEEHT—@E XA HS




P3-13_0, Day=69 (2025-06-08)
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P3-13

BYiE) | GEREKE) | Els (EA/H) | EBREE B/ R | X8 ERR

07:00 283 150.0 2.888 RS {RRi&e07:00 Bz (REERHEE)
07:30 283 150. 0 2.888 BE| 1Ri%e07:30 B3 (RF{EREE)
08:00 283 150. 0 2.888 s {Ri%e08:00 Bl (REAEEE)
08:30 283 150. 0 2.888 RS {Ri%e08:30 B (REAEHE)
09:00 283 150. 0 2.888 BE| 1Ri%e09:00 Bz (RFERESE)
09:30 283 150. 0 2.888 s {Ri%e09:30 Bal (REEESE)
10:00 283 150.0 2.888 B 1Ri%e10:00 B3h (REEESE)
10:30 283 150.0 2.888 BS| 1Ri%e10:30 B3 (GREMEEEE)
11:00 283 150. 0 2.888 Bl Rige11:00 Bal (REEESE)
11:30 283 150.0 2.888 | 1Rige11:30 Bzh (GREEREE)
12:00 283 150.0 2.888 BE| BRi%e12:00 Bz (REERSE)
12:35 283 150. 0 2.888 BE| 1Ri%e12:35 B (RFAERE)
13:05 283 150. 0 2.888 el Rige13:05 Bal (REAEHSE)
13:35 283 150.0 2.888 BE| {Rige13:35 BHal (REAEHE)
14:05 283 150. 0 2.888 BE| {Ri%e14:05 B (GGRFA{EREE)
14:35 283 150. 0 2.888 el BRi%e14:35 Bz (REERSE)
15:05 283 150.0 2.888 BE| Rige15:05 Ba (REAERE)
15:35 283 150. 0 2.888 BE| 1Ri%e15:35 B3 (RF{EREE)
16:05 283 150. 0 2.888 el {Rige16:05 Bal (REAEESE)
16:35 283 150.0 2.888 B 1Rige16:35 Bzh (REEESE)
17:05 283 150.0 2.888 BS| 1Ri%e17:05 Bzh CGREMEESE)
2it]5943.0 (217%) 3150.0 329353 KEC: 2080.0, PH: 5.8

FEREAERE STEAETRSE (184.0 : 142.0), AHEHATF—RAEZ XFH4
ZRINLPRIERE142.0 ml.

EI/&EC 7073.0 K7, L FRECARR A ER

HEERECE (1877.0 vs 7073.0) 35
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